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(Skill Enhancement Course)

Answer the Questions from any one Option.

OPTION - A
(E—Commercé )
Paper : COM~SEC_4014
OPTION -B
( E-Filing of Returns)
Paper : COM-SEC-4024
Full Marks : 50

. Time : Two hours

The figures in the margin indicate
Sfull marks for the questions,

Answer either in English or in Assamese.
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OPTION - A (i) The full form of DSC is
( E-Commerce )

DSC 3 759 F%t T

Paper : COM-SEC-4014 (a) Digital 'Securify Code

1. Choose the correct option from the folloﬁfing : ¥ Sfess @S
: . 1x4=4 :
OoTS MG o[l wa Rewses! Al <1 ¢ (b) Digital Security Certificate
(i) Which of the following E-Commerce ' fefersa st el
models is concerned with the dealing _ 0, :
of the consumers in between them ? (¢) . Digital Signature Code
O (A 3 wiEE e fod . RGn A e .
MErS (S e e faca? ' - (d) Digital Signature Certificate
(@) B2B . foferset e esticisig.
eep2C ' (iv) Which HTML. tag is used to break a
e C2C line ?
(d) C2B _
L ©Iféd0sT (! HT R
() The unique .address of a webpage is <l il MR :
" known as ‘ 9 23?2 :
(A Bl G5 BT @l 27 (@) <In>
(@ URL ‘ (b) < br>
(b) ISP (c) <bl>
(¢) Home page : o
< >
(@) HITP - sl (@
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2. Answer the following questions : | 2x3=6
oS 3l ehTRs T fral ¢
(@) What is encryption ?
Gefepope 5 2
(b) What are Website and Web browser ?
@RBIRE OF [ e 2
~(¢) What is hyperlink ?
ARG 52

3.  Write short notes on the following : (any two)
5x2=10

Tﬁmw—wmm (ﬁzﬁm‘}fﬁf)
(@) Online banking

OFERT @Y

(b) Key elements of E-Commerce business
mode]
TS Aoy Wik el oM

(c) WWWwW '

(d) Online Marketing
SR AT
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4. Answer the following questions : (any three)
10x3=30

| wors iRl ehTRe el il ¢ (Resprean fofoh)

(a) What is E-Commerce? Mention the -
advantages and disadvantages of

E-Commerce. e 2+8=10
BlE 52 BhIbE AR s SRR S
=4l

(b) Briefly discuss the business models of
E-Commerce.

I IPN NRET 5 A 41 |

(c) Briefly discuss the features of the IT
Act, 2000.

iz 9B zoooammwwl

(d) What is e-payment system ? Briefly
discuss different methods of e-payment
system. . 2+8=10

SRy daen T [fen T-ifeny etk
AGTIR DI(F D! 4 |

(e) What is e-commerce security ? Mention

different security threats. Mention the
technology solutions for security.
2+5+3=10

4 (Sem-4/CBCS) SEC 1/2 (E-COM/EFR/G S Contd.



3G e e Riow s oRRemE e OPTION - B
- TR A S PR Srer | Paper : COM—SEC-4024

‘() ' What is HTML tag ? Write the usage of gan ( E-Filing of Returns)
any six tags in HTML. Mention the steps '

Sl YL domenty, L6+3=10 1. Say whether the following statements are

HTML 571 ¢ HTMLA Reeie &1 (osim - True or False : AU e
:‘,: (F) SHTHIL EEC',' CORI st wore il RYFOMR wa @ 187 (il ¢
TR @aﬂﬂf 39 | : _ -

e (a) E-Filing is mandatory for a company.

: ' G5! @I=INIE @ E-Filing IO 27 |

(b) Registration under GST is compulsory

for all seller/suppliers of goods/ services.

GSTR wfe AGHT AICA AW/ (371
Rzl / @IAAPIAE A AL |
() Demat [-\ccou,nt may be used to verify

ITR. |
ITR 7S S(Race o GHISH’ Iz IR
AR _

(d) TAN is a 10 'digit'alpha-numeric
number.

TAN (3rg S0 T WIeTF-FHej9e F7=Al |

1 (Sem-4/CBCS) SEC 12 E-CONERRYG 6 4 (Sem-4/CBCS) SEC 1/2 (E-COM/E-FRYG 7 | Contd.




4 (Sem~-4/CBCS; SEC 1/2 {E'CO.WE-FR]

Answer the following questions : 2x3=6

iﬁﬂniai El\‘) W@@ <9l 2

(@) What do you mean by E-filing ?
E-Filing Jfet & @i

(b) Write two features of GST.
GSTS voi cafiey &t

() What is TDS ?
TDS e ﬁsé.

Answer any two questlons from the
following : 9x2=10

iRt erprs st Rz 769 Se B g

(@) Briefly explain any five limitations of
E-filing,

: EFIlmg?I' ﬁm?ﬁﬁﬁ’ﬂ?jﬁmsﬁaaﬂﬁﬁ.

Bl

(b) Write a note on the history of
mtroduct10n of GST in Indla

SRS GST eré BRaPR e awc‘s‘rzﬁ
IGEIN

R

(c) Explain the contents of Form 16.

Form 16 ¥ @Wﬁ@ ?ﬁﬁl

(d) Write any five forms of Income Tax

Returns.

WW@WW@WW
GE

Answer any three questiqns from the
following : : 10x3=30
RafRS e A A o e el ¢
(@) Who is an assessee ? What are different

types of assessee ? Explain.

et (ol 2 O RS SR e |

fb)- Write short notes on : . 5+5=10
oY (Gl fordll &
(i) GSTR-1
GSTR-19
(i) ITR-1
ITR-19
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During the previous year she had paid

gentlon valljlous_ Sicrsilonsiilng) BT Rs. 60,000 as life insurance premium
StuEnSEonLIe: and Rs: 25,000 as medical insurance
_GST returns online 7¥® *i@foq Rfem premium through net banking.
- ANCFAEIS S 9 | Compute*‘l:iér tax liability if Miss Kalita
v . f ld - tax regime.
(d) What is AS26 ? Mention the contents RS, e :
. of AS26. - A7l Fferol, TTA 35 W WIF GO Jerl
- - fSDITE FeO | 2022-23 HFEIF THO (SCAS
AS26 fF? AS26 3 RemReTR @ . @
- 2% e vl A 02 2,00,000 5, TSR b
(e) Write a note on Yarious provisions of TA wSRE 50%, ¥9 ©Ul©lgl 40,000 GH
the New Tax Regime. ez S RO ©IG! M 10,000 551 AR
T 39 I R 0 SR @61 Gl Ffereil ¢TI dbl ISl TS I B W -
o . 2ifS 2 30,000 Tl ©IT! #0114 3 | (ST
(l Miss Riya Kalita, aged 35 years, is eIC Rl by S e

employed in a public sector company.
During the previous year 2022-23, she
received a basic salary of Rs. 2,00,000
p.m., dearness allowance 50% of basic
pay, house rent allowance Rs. 40,000
p-m. Miss Kalita resides in a rented
hou§e at Guwahati and rent paid by
her is Rs. 30,000 p.m. She gets special

- allowance of Rs. 10,000 p.m. She

Mmaintains a savings bank account with
ICIQI Bank and during the previous
year 2022-23, Rs. 40,000 was credited
In her bank account as interest.

ARSI 7 2022-23% JoF /W 40,000 TF
ol 27| ' ‘ :
(or2ed Giae Al [ 60,000 B i<k e
T 9% 25,000 51 (6 (@Fe @[t ARy
sAfqael FmEe P

——— e
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